
651 girls and 727 boys attend SL School. How many students attend SL School?

53,488 people attended a show on Saturday and 67,998 attended the show on Sunday. How 
many people attended the show over the weekend?

Kelly earned $4798 in January, $6799 in February and $2890 in March. How much did Kelly 
earn in the first three months of the year?

Adding large numbers

Henry caught a flight from Sydney to London in two stages. The distance from Sydney to 
Singapore was 6324 km and Singapore to London 8487 km. What was the length of the entire 
flight?

Gabon has a population of 1,534,889. 
Qatar’s population is 16,4547 more people than Gabon. 
What is Qatar's population?

An investor bought two houses. The first cost $550,550 and the second $426,00. How much did 
the investor spend on the two houses?

Distance to the moon: 384,403 km. 
Return distance: 394,598 km. 
What is the total distance to the moon and back?

A 5.2 t truck is carrying 3968 kg of coal. What is the mass of the truck and coal?

Name:

1)

2)

3)

4)

5)

6)

7)

8)

© Studyladder


